DEPARTMENT OF PURCHASING CONTRACTING BID TABULATION

Price Opening Date: July 3,2023@10:00 am

AGENT NAME: Judi Moore

Title: Small Domestic Brass Fittings Gate Valves

				FERGUSON W	/ATERWORKS	DELTA MUNICIPAL	SUPPLY COMPANY
ITEM	DESCRIPTION	Estimated Number of Units	Unit of Measure	Unit Price	Total Price	Unit Price	Total Price
1	Nipple, rough brass, 3/4-inch diameter x 1-3/8-inch long, in accordance with enclosed Minimum Specifications.	1,500	EA.	\$3.32	\$4,980.00	\$2.15	\$3,225.00
2	Nipple, rough brass, 3/4-inch diameter x 2-inch long, in accordance with enclosed Minimum Specifications.	300	EA.	\$4.18	\$1,254.00	\$2.74	\$822.00
3	Nipple, rough brass, 3/4-inch diameter x 3-inch long, in accordance with enclosed Minimum Specifications.	2,000	EA.	\$5.60	\$11,200.00	\$3.66	\$7,320.00
4	Nipple, rough brass, 3/4-inch diameter x 6-inch long, in accordance with enclosed Minimum Specifications.	2,000	EA.	\$9.78	\$19,560.00	\$5.95	\$11,900.00
5	Nipple, rough brass, 3/4-inch diameter x 12-inch long, in accordance with enclosed Minimum Specifications.	3,600	EA.	\$18.75	\$67,500.00	\$10.72	\$38,592.00
6	Nipple, rough brass, 1-inch diameter x 1-1/2 inch long, in accordance with enclosed Minimum Specifications.	100	EA.	\$4.90	\$490.00	\$3.19	\$319.00
7	Nipple, rough brass, 1-inch diameter x 2-inch long, in accordance with enclosed Minimum Specifications.	400	EA.	\$6.04	\$2,416.00	\$3.94	\$1,576.00
8	Nipple, rough brass, 1-inch diameter x 3-inch long, in accordance with enclosed Minimum Specifications.	100	EA.	\$7.99	\$799.00	\$5.28	\$528.00
9	Nipple, rough brass, 1-inch diameter x 6-inch long, in accordance with enclosed Minimum Specifications.	300	EA.	\$14.28	\$4,284.00	\$10.11	\$3,033.00
10	Nipple, rough brass, 1-inch diameter x 12- inch long, in accordance with enclosed Minimum Specifications.	300	EA.	\$28.11	\$8,433.00	\$16.06	\$4,818.00
11	Nipple, rough brass, 1-1/2 inch diameter x 15-inch long, in accordance with enclosed Minimum Specifications.	500	EA.	\$45.45	\$22,725.00	\$38.95	\$19,475.00

Witness Signature:	
Agent Signature:	Purchasing Manager Signature:

DEPARTMENT OF PURCHASING CONTRACTING BID TABULATION

Price Opening Date: July 3,2023@10:00 am **AGENT NAME: Judi Moore**

				FERGUSON W	/ATERWORKS	DELTA MUNICIPAL	SUPPLY COMPANY
ITEM	DESCRIPTION	Estimated Number of Units	Unit of Measure	Unit Price	Total Price	Unit Price	Total Price
12	Nipple, rough brass, 1-1/2-inch diameter x 2-inch long, in accordance with enclosed Minimum Specifications.	800	EA.	\$10.17	\$8,136.00	\$5.45	\$4,360.00
13	Nipple, rough brass, 1-1/2-inch diameter x 6-inch long, in accordance with enclosed Minimum Specifications.	700	EA.	\$25.13	\$17,591.00	\$14.99	\$10,493.00
14	Nipple, rough brass, 2-inch diameter x 2-inch long, in accordance with enclosed Minimum Specifications.	400	EA.	\$14.39	\$5,756.00	\$7.82	\$3,128.00
15	Nipple, rough brass, 2-inch diameter x 4-inch long, in accordance with enclosed Minimum Specifications	100	EA.	\$21.89	\$2,189.00	\$15.48	\$1,548.00
16	Nipple, rough brass, 2-inch diameter x 6-inch long, in accordance with enclosed Minimum Specifications.	300	EA.	\$32.31	\$9,693.00	\$18.95	\$5,685.00
17	Nipple, rough brass, 2-inch diameter x 8-inch long, in accordance with enclosed Minimum Specifications.	100	EA.	\$43.10	\$4,310.00	\$30.48	\$3,048.00
18	Nipple, rough brass, 2-inch diameter x 16- inch long, in accordance with enclosed Minimum Specifications.	250	EA.	\$84.90	\$21,225.00	\$55.95	\$13,987.50
19	Nipple, rough brass, 3-inch diameter x 4-inch long, in accordance with enclosed Minimum Specifications	30	EA.	\$63.81	\$1,914.30	\$46.02	\$1,380.60
20	Nipple, rough brass, 3-inch diameter x 8-inch long, in accordance with enclosed Minimum Specifications	50	EA.	\$121.17	\$6,058.50	\$69.75	\$3,487.50
21	Nipple, rough brass, 3-inch diameter x 12- inch long, in accordance with enclosed Minimum Specifications.	50	EA.	\$176.31	\$8,815.50	\$102.00	\$5,100.00
22	Nipple, rough brass, 4-inch diameter x 4-inch long, in accordance with enclosed Minimum Specifications.	10	EA.	\$94.30	\$943.00	\$54.00	\$540.00

Witness Signature:	
Agent Signature:	Purchasing Manager Signature:

DEPARTMENT OF PURCHASING CONTRACTING

Price Opening Date: July 3,2023@10:00 am **Title: Small Domestic Brass Fittings Gate Valves BID TABULATION AGENT NAME: Judi Moore**

				FERGUSON W	/ATERWORKS	DELTA MUNICIPAL	SUPPLY COMPANY
ITEM	DESCRIPTION	Estimated Number of Units	Unit of Measure	Unit Price	Total Price	Unit Price	Total Price
23	Nipple, rough brass, 4-inch diameter x 18- inch long, in accordance with enclosed Minimum Specifications.	10	EA.	\$401.15	\$4,011.50	\$252.00	\$2,520.00
24	Nipple, rough brass, 3-inch diameter x 2-5/8 inch long (close), in accordance with enclosed Minimum Specifications.	60	EA.	\$48.19	\$2,891.40	\$27.95	\$1,677.00
25	Nipple, rough brass, 4-inch diameter x 8-inch long, in accordance with enclosed Minimum Specifications.	10	EA.	\$172.49	\$1,724.90	\$99.57	\$995.70
26	Nipple, rough brass, 4-inch diameter x 12-inch long, and in accordance with enclosed Minimum Specifications.	10	EA.	\$251.70	\$2,517.00	\$145.30	\$1,453.00
27	Elbow, rough brass, 3/4-inch x 45 degrees, female, and in accordance with enclosed Minimum Specifications.	100	EA.	\$20.83	\$2,083.00	\$13.25	\$1,325.00
28	Elbow, rough brass, 1-inch x 45 degrees, female, and in accordance with enclosed Minimum Specifications.	10	EA.	\$35.54	\$355.40	\$22.42	\$224.20
29	Elbow, rough brass, 1-1/2-inch x 45 degrees, female, and in accordance with enclosed Minimum Specifications.	60	EA.	\$71.04	\$4,262.40	\$45.23	\$2,713.80
30	Elbow, rough brass, 2-inch x 45 degrees, female, and in accordance with enclosed Minimum Specifications.	30	EA.	\$114.89	\$3,446.70	\$73.15	\$2,194.50
31	Elbow, rough brass, 3/4-inch x 90 degrees, female, and in accordance with enclosed Minimum Specifications.	2,100	EA.	\$15.96	\$33,516.00	\$10.18	\$21,378.00
32	Coupling, 14-inch compression for Ductile iron, Cast Iron and Steel Pipe, Smith Blair # 413, 15.30 – 15.30 – 15.65 or acceptable equal as long as all specification matches.	100	EA.	\$25.96	\$2,596.00	\$16.59	\$1,659.00
33	Elbow, rough brass, 3/4-inch x 90 degrees, female, and in accordance with enclosed Minimum Specifications.	1,000	EA.	\$61.25	\$61,250.00	\$39.10	\$39,100.00

witness Signature:	
Agent Signature:	Purchasing Manager Signature:

DEPARTMENT OF PURCHASING CONTRACTING

Price Opening Date: July 3,2023@10:00 am **AGENT NAME: Judi Moore BID TABULATION**

				FERGUSON W	/ATERWORKS	DELTA MUNICIPAL	SUPPLY COMPANY
ITEM	DESCRIPTION	Estimated Number of Units	Unit of Measure	Unit Price	Total Price	Unit Price	Total Price
34	Elbow, rough brass, 2-inch x 90 degrees, female, and in accordance with enclosed Minimum Specifications.	200	EA.	\$91.24	\$18,248.00	\$58.35	\$11,670.00
35	Elbow, rough brass, 3-inch x 90 degrees, female, and in accordance with enclosed Minimum Specifications.	40	EA.	\$309.55	\$12,382.00	\$197.70	\$7,908.00
36	Elbow, rough brass, 4-inch x 90 degrees, female, and in accordance with enclosed Minimum Specifications.	10	EA.	\$628.78	\$6,287.80	\$401.00	\$4,010.00
37	Elbow, rough brass, 1-inch x 3/4-inch (reducing), female, and in accordance with enclosed Minimum Specifications.	600	EA.	\$41.63	\$24,978.00	\$26.40	\$15,840.00
38	Elbow, rough brass, 2-inch x 1-1/2 inch (reducing), female, and in accordance with enclosed Minimum Specifications.	100	EA.	\$143.77	\$14,377.00	\$90.98	\$9,098.00
39	Ell, rough brass, 3/4-inch x 90 degrees, street elbow, and in accordance with enclosed Minimum Specifications.	1,200	EA.	\$21.97	\$26,364.00	\$8.50	\$10,200.00
40	Ell, rough brass, 1-inch x 90 degrees, street elbow, and in accordance with enclosed Minimum Specifications.	30	EA.	\$35.95	\$1,078.50	\$22.92	\$687.60
41	Ell, rough brass, 1-1/2 inch x 90 degrees, street elbow, and in accordance with enclosed Minimum Specifications.	50	EA.	\$71.86	\$3,593.00	\$45.87	\$2,293.50
'-	Ell, rough brass, 2-inch x 90 degrees, street elbow, and in accordance with enclosed Minimum Specifications.	10	EA.	\$121.78	\$1,217.80	\$77.70	\$777.00
43	Tee, rough brass, 3/4-inch, and in accordance with enclosed Minimum Specifications.	500	EA.	\$19.92	\$9,960.00	\$12.71	\$6,355.00
44	Tee, rough brass, 1-inch, and in accordance with enclosed Minimum Specifications.	70	EA.	\$41.47	\$2,902.90	\$26.52	\$1,856.40

witness Signature:	
Agent Signature:	Purchasing Manager Signature:

DEPARTMENT OF PURCHASING CONTRACTING BID TABULATION

NG CONTRACTING Price Opening Date: July 3,2023@10:00 am
ION AGENT NAME: Judi Moore

				FERGUSON W	/ATERWORKS	DELTA MUNICIPAL	SUPPLY COMPANY
ITEM	DESCRIPTION	Estimated Number of Units	Unit of Measure	Unit Price	Total Price	Unit Price	Total Price
45	Tee, rough brass, 1-1/2 inch, and in accordance with enclosed Minimum Specifications.	5	EA.	\$68.09	\$340.45	\$64.76	\$323.80
46	Tee, rough brass, 1-1/4 inch, and in accordance with enclosed Minimum Specifications.	70	EA.	\$69.88	\$4,891.60	\$44.62	\$3,123.40
47	Tee, rough brass, 2-inch, and in accordance with enclosed Minimum Specifications.	75	EA.	\$61.87	\$4,640.25	\$39.16	\$2,937.00
48	Tee, rough brass, 3-inch, and in accordance with enclosed Minimum Specifications.	100	EA.	\$115.80	\$11,580.00	\$74.13	\$7,413.00
49	Tee, rough brass, 4-inch, and in accordance with enclosed Minimum Specifications.	10	EA.	\$421.65	\$4,216.50	\$96.00	\$960.00
50	Reducer, rough brass, 1-inch x 3/4-inch, female on both ends, and in accordance with enclosed Minimum Specifications.	10	EA.	\$1,046.17	\$10,461.70	\$228.00	\$2,280.00
51	Reducer, rough brass, 2-inch x 1-1/2 inch, female on both ends, and in accordance with enclosed Minimum Specifications.	1,800	EA.	\$27.07	\$48,726.00	\$9.35	\$16,830.00
52	Coupling, rough brass, 3/4-inch (sleeves), and in accordance with enclosed Minimum Specifications.	700	EA.	\$111.31	\$77,917.00	\$32.33	\$22,631.00
53	Coupling, rough brass, 1-inch (sleeves), and in accordance with enclosed Minimum Specifications.	5,200	EA.	\$14.02	\$72,904.00	\$6.50	\$33,800.00
54	Coupling, rough brass, 1-1/4 inch (sleeves), and in accordance with enclosed Minimum Specifications.	500	EA.	\$23.91	\$11,955.00	\$15.29	\$7,645.00
55	Coupling, rough brass, 1-1/2 inch (sleeves), and in accordance with enclosed Minimum Specifications.	10	EA.	\$39.91	\$399.10	\$17.50	\$175.00
56	Coupling, rough brass, 2-inch (sleeves), and in accordance with enclosed Minimum Specifications	600	EA.	\$51.92	\$31,152.00	\$18.50	\$11,100.00

Witness Signature:		
Agent Signature:	Purchasing Manager Signature	

DEPARTMENT OF PURCHASING CONTRACTING

Price Opening Date: July 3,2023@10:00 am **AGENT NAME: Judi Moore BID TABULATION**

				FERGUSON W	/ATERWORKS	DELTA MUNICIPAL	. SUPPLY COMPANY
ITEM	DESCRIPTION	Estimated Number of Units	Unit of Measure	Unit Price	Total Price	Unit Price	Total Price
57	Coupling, rough brass, 2-1/2 inch (sleeves), and in accordance with enclosed Minimum Specifications.	200	EA.	\$85.85	\$17,170.00	\$54.96	\$10,992.00
58	Coupling, rough brass, 3-inch (sleeves), and in accordance with enclosed Minimum Specifications.	10	EA.	\$146.25	\$1,462.50	\$93.32	\$933.20
59	Coupling, rough brass, 4-inch (sleeves), and in accordance with enclosed Minimum Specifications.	30	EA.	\$202.68	\$6,080.40	\$109.00	\$3,270.00
60	Plug, rough brass, 3/4-inch, square head and in accordance with enclosed Minimum Specifications.	10	EA.	\$417.58	\$4,175.80	\$120.00	\$1,200.00
61	Plug, rough brass, 2-inch, square head, and in accordance with enclosed Minimum Specifications.	200	EA.	\$9.99	\$1,998.00	\$6.39	\$1,278.00
62	Plug, rough brass, 4-inch, square head, and in accordance with enclosed Minimum Specifications.	100	EA.	\$45.88	\$4,588.00	\$29.40	\$2,940.00
63	Plug, rough brass, 1-inch, square head, and in accordance with enclosed Minimum Specifications.	10	EA.	\$231.54	\$2,315.40	\$75.00	\$750.00
64	Plug, rough brass, 1-1/2-inch, square head, and in accordance with enclosed Minimum Specifications.	10	EA.	\$15.96	\$159.60	\$10.23	\$102.30
65	Hex Bushing, rough brass, screwed fittings, 1-1/4-inch x 3/4-inch, and in accordance with enclosed Minimum Specifications.	200	EA.	\$27.96	\$5,592.00	\$17.93	\$3,586.00
66	Hex Bushing, rough brass, screwed fittings, 2-inch x 3/4-inch, and in accordance with enclosed Minimum Specifications.	10	EA.	\$24.94	\$249.40	\$15.99	\$159.90
67	Hex Bushing, rough brass, screwed fittings, 1-inch x 3/4-inch, and in accordance with enclosed Minimum Specifications.	10	EA.	\$43.72	\$437.20	\$28.03	\$280.30

witness Signature:	
Agent Signature:	Purchasing Manager Signature:

DEPARTMENT OF PURCHASING CONTRACTING BID TABULATION

Price Opening Date: July 3,2023@10:00 am

AGENT NAME: Judi Moore

Title: Small Domestic Brass Fittings Gate Valves

				FERGUSON W	/ATERWORKS	DELTA MUNICIPAL	SUPPLY COMPANY
ITEM	DESCRIPTION	Estimated Number of Units	Unit of Measure	Unit Price	Total Price	Unit Price	Total Price
68	Hex Bushing, rough brass, screwed fittings, 1-1/4-inch x 1-inch, and in accordance with enclosed Minimum Specifications.	600	EA.	\$13.67	\$8,202.00	\$6.50	\$3,900.00
69	Hex Bushing, rough brass, screwed fittings, 1-1/2-inch x 1-inch, and in accordance with enclosed Minimum Specifications.	10	EA.	\$24.94	\$249.40	\$15.98	\$159.80
70	Hex Bushing, rough brass, screwed fittings, 2-inch x 1-inch, and in accordance with enclosed Minimum Specifications.	10	EA.	\$35.44	\$354.40	\$13.50	\$135.00
71	Hex Bushing, rough brass, screwed fittings, 1-1/2-inch x 1-1/4 inch, and in accordance with enclosed Minimum Specifications.	10	EA.	\$43.72	\$437.20	\$19.50	\$195.00
72	Hex Bushing, rough brass, screwed fittings, 1-1/2 inch x 3/4-inch, and in accordance with enclosed Minimum Specifications.	10	EA.	\$35.44	\$354.40	\$22.70	\$227.00
73	Hex Bushing, rough brass, screwed fittings, 3-inch x 1-1/2 inch, and in accordance with enclosed Minimum Specifications.	600	EA.	\$35.44	\$21,264.00	\$15.00	\$9,000.00
74	Hex Bushing, rough brass, screwed fittings, 2-inch x 1-1/2 inch, and in accordance with enclosed Minimum Specifications.	10	EA.	\$204.76	\$2,047.60	\$55.00	\$550.00
75	Hex Bushing, rough brass, screwed fittings, 4-inch x 2-inch, and in accordance with enclosed Minimum Specifications.	200	EA.	\$43.72	\$8,744.00	\$18.50	\$3,700.00
76	Hex Bushing, rough brass, screwed fittings, 3-inch x 2-inch, and in accordance with enclosed Minimum Specifications.	10	EA.	\$419.49	\$4,194.90	\$269.00	\$2,690.00
77	Stop, brass, ball valve, 1-1/2-inch Corporation, CC x IP, and in accordance with enclosed Minimum Specifications; McD-73121B or acceptable equal.	100	EA.	\$162.39	\$16,239.00	\$104.18	\$10,418.00

Witness Signature:	
Agent Signature:	Purchasing Manager Signature:

DEPARTMENT OF PURCHASING CONTRACTING

Price Opening Date: July 3,2023@10:00 am

AGENT NAME: Judi Moore

Title: Small Domestic Brass Fittings Gate Valves BID TABULATION

				FERGUSON W	/ATERWORKS	DELTA MUNICIPAL	SUPPLY COMPANY
ITEM	DESCRIPTION	Estimated Number of Units	Unit of Measure	Unit Price	Total Price	Unit Price	Total Price
78	Stop, brass, ball valve curb, 3/4-inch IP x IP Full Port, and in accordance with enclosed Minimum Specifications; McD-7610W, Ford B-11W, or Hayes 4300W, (ONLY).	300	EA.	\$171.04	\$51,312.00	\$126.76	\$38,028.00
70	Stop, brass, ball valve curb, 1-inch IP x IP, Full Port, and in accordance with enclosed Minimum Specifications; McD-76101W, Ford B-11W or Hayes 4300W, (ONLY).	1,500	EA.	\$70.01	\$105,015.00	\$51.76	\$77,640.00
80	Stop, brass, ball valve curb, 1-1/2 inch IP x IP Full Port, and in accordance with enclosed Minimum Specifications; McD-6101W, Ford B-11W or Hayes 4300W, (ONLY)	100	EA.	\$107.31	\$10,731.00	\$80.75	\$8,075.00
81	Coupling, brass, straight meter coupling, 3/4-inchx 3/4-inch ribbed tailpiece, drilled swivel nut, and in accordance with enclosed Minimum Specifications; Ford C-38, McD4620, or acceptable equal.	10	EA.	\$216.84	\$2,168.40	\$163.00	\$1,630.00
82	Coupling, brass, meter coupling, 3/4-inch x 12-inch, and in accordance with enclosed Minimum Specifications; Ford C-38-23-12 or McD4620 (ONLY).	10,000	EA.	\$12.73	\$127,300.00	\$9.22	\$92,200.00
	Coupling, brass, straight meter coupling, 1-1/2 inch x 1-1/2 inch ribbed tailpiece, drilled swivel nut, and in accordance with enclosed Minimum Specifications; Ford C-38, McD4620 or acceptable equal.	10,000	EA.	\$66.88	\$668,800.00	\$47.67	\$476,700.00
84	Coupling, brass, straight meter coupling, 1-inch x 1-1/4 inch ribbed tailpiece, drilled swivel nut, and in accordance with enclosed Minimum Specifications; Ford C-38, McD4620 or acceptable equal.	50	EA.	\$54.28	\$2,714.00	\$41.30	\$2,065.00
85	Adaptor, brass, 1-inch PVC x MIP, with steel insert stiffener, and in accordance with enclosed Minimum Specifications; Ford C86-44, McD4753-44, or acceptable equal.	400	EA.	\$19.05	\$7,620.00	\$14.50	\$5,800.00

Witness Signature:	
Agent Signature:	Purchasing Manager Signature:

Price Opening Date: July 3,2023@10:00 am **DEPARTMENT OF PURCHASING CONTRACTING AGENT NAME: Judi Moore BID TABULATION**

				FERGUSON W	/ATERWORKS	DELTA MUNICIPAL	SUPPLY COMPANY
ITEM	DESCRIPTION	Estimated Number of Units	Unit of Measure	Unit Price	Total Price	Unit Price	Total Price
	Adaptor, brass, 1-inch PVC x MIP, with steel insert stiffener, and in accordance with enclosed Minimum Specifications; Ford C86-44, McD4753-44, or acceptable equal.	2,000	EA.	\$25.94	\$51,880.00	\$19.60	\$39,200.00
	Coupling, brass compression for PVC pipe, 3/4-inch, and in accordance with enclosed Minimum Specifications; Ford C77-33 or McD4758-44, (ONLY).	1,500	EA.	\$40.52	\$60,780.00	\$30.60	\$45,900.00
88	Coupling, brass compression for PVC pipe, 1-inch, and in accordance with enclosed Minimum Specifications; Ford C77-44 or McD4758-44, (ONLY).	30	EA.	\$44.37	\$1,331.10	\$33.19	\$995.70
89	Coupling, brass compression for PVC pipe, 1-1/4-inch, and in accordance with enclosed Minimum Specifications; Ford C77-55 or McD4758-44, (ONLY).	15	EA.	\$34.58	\$518.70	\$38.98	\$584.70
00	Coupling, brass compression for PVC pipe, 1-1/2 inch, and in accordance with enclosed Minimum Specifications; Ford C77-66 or McD4758-44, (ONLY).	15	EA.	\$47.14	\$707.10	\$36.38	\$545.70
91	Coupling, brass compression for PVC pipe, 2-inch, and in accordance with enclosed Minimum Specifications; Ford C77-77 or McD4758-44, (ONLY).	1,300	EA.	\$34.87	\$45,331.00	\$26.11	\$33,943.00
00	Gate Valve, 1-1/2 inch, and in accordance with enclosed Minimum Specifications.	300	EA.	\$59.18	\$17,754.00	\$44.88	\$13,464.00
93	Gate Valve, 2 inches, and in accordance with enclosed Minimum Specifications.	30	EA.	\$84.93	\$2,547.90	\$66.07	\$1,982.10
	Gate Valve, 3-inches, non-rising stem, solid wedge disc and full flow FIP x FIP, and in accordance with enclosed Minimum Specifications; NIBCO T-113-T, A. Y. McDonald -9560 or H1780.	200	EA.	\$115.47	\$23,094.00	\$85.89	\$17,178.00

witness Signature:	_
Agent Signature:	Purchasing Manager Signature:

DEPARTMENT OF PURCHASING CONTRACTING

Price Opening Date: July 3,2023@10:00 am **AGENT NAME: Judi Moore BID TABULATION**

				FERGUSON W	/ATERWORKS	DELTA MUNICIPAL	. SUPPLY COMPANY
ITEM	DESCRIPTION	Estimated Number of Units	Unit of Measure	Unit Price	Total Price	Unit Price	Total Price
	Gate Valve, 3/4-inch, and in accordance with enclosed Minimum Specifications.	200	EA.	\$174.66	\$34,932.00	\$129.39	\$25,878.00
96	Gate Valve, 1-inch, and in accordance with enclosed Minimum Specifications.	20	EA.	\$79.70	\$1,594.00	\$188.00	\$3,760.00
97	Gate Valve, 1-1/2 inches, and in accordance with enclosed Minimum Specifications.	20	EA.	\$108.49	\$2,169.80	\$248.00	\$4,960.00
98	Saddle all stainless steel 6 x 1cc, WR. O, D., 6.63-7.23, Smith Blair 372 or acceptable equal as long as all specification matches	30	EA.	\$691.75	\$20,752.50	\$165.88	\$4,976.40
99	Saddle all stainless steel, 8C 1cc, WR 8.63 – 9.83 Smith Blair 372 or acceptable equal as long as all specification matches.	4,000	EA.	\$31.71	\$126,840.00	\$26.71	\$106,840.00
1 1 ()()	Saddle all stainless steel, 6 x 3/4cc, WR, O.D. 6.63 – 7.23 Smith Blair 265 or acceptable equal as long as all specification matches.	50	EA.	\$41.97	\$2,098.50	\$35.80	\$1,790.00
101	Saddle all stainless steel 8 x 3/4cc, WR, O.D., 8.63 – 9.83, Smith Blair 265 or acceptable equal as long as all specification matches.	500	EA.	\$79.70	\$39,850.00	\$46.92	\$23,460.00
1 -0-	Saddle all stainless steel 6 x 1cc, WR, O.D., 6.63 – 7.23, Smith Blair 265 or acceptable equal as long as all specification matches.	200	EA.	\$255.23	\$51,046.00	\$201.29	\$40,258.00
103	Saddle all stainless steel 8 x 1cc, WR, O.D., 8.63 – 9.83, Smith Blair 265 or acceptable equal as long as all specification matches.	10	EA.	\$281.75	\$2,817.50	\$216.00	\$2,160.00
104	Resetter, Full port dual port and full port ball valve, 1-inch x 12-inch meter fitting, and in accordance with enclosed Minimum Specifications; AY McDonald 718-412JX or acceptable equal.	10	EA.	\$433.43	\$4,334.30	\$303.47	\$3,034.70

Witness Signature:	
Agent Signature:	Purchasing Manager Signature:

DEPARTMENT OF PURCHASING CONTRACTING

Price Opening Date: July 3,2023@10:00 am **BID TABULATION AGENT NAME: Judi Moore**

				FERGUSON W	/ATERWORKS	DELTA MUNICIPAL	SUPPLY COMPANY
ITEM	DESCRIPTION	Estimated Number of Units	Unit of Measure	Unit Price	Total Price	Unit Price	Total Price
105	Resetter, Full port dual port and full port ball valve, 1-inch x 18-inch meter fitting, and in accordance with enclosed Minimum Specification; A.Y. McDonald 718-418JX or acceptable equal.	10	EA.	\$478.96	\$4,789.60	\$349.00	\$3,490.00
	Retro setter, meter, 3/ 4-inch x 4-1/8 inch, with dual angle cartridge check valve, Full Port, 3/ 4 inch angle ball valve, and in accordance with enclosed Minimum Specifications; Ford #HHCA31-323, #BA 13-332W, retro 3 CV-BHC 60, A.Y. McDonald 717-305JD – X60 or acceptable equal.	10,000	EA.	\$296.65	\$2,966,500.00	\$190.65	\$1,906,500.00
107	Retro setter, meter, 1-inch x 4-1/8 inch, with dual angle cartridge check valve, Full Port, 1 inch angle ball valve, and in accordance with enclosed Minimum Specifications; Ford #HHCA31-444, #BA13-444W, retro 4 CV-BHC 60, A.Y. McDonald 717-406JM-X60, or acceptable equal.	250	EA.	\$646.80	\$161,700.00	\$446.44	\$111,610.00
108	By-Pass, meter, 1-1/2 inch complete with 1-1/2 inch test port, Full port, and in accordance with enclosed Minimum Specifications.	75	EA.	\$1,647.31	\$123,548.25	\$1,133.01	\$84,975.75
109	By-Pass, meter, 2-inch, complete, with 2" Full port and in accordance with enclosed Minimum Specifications	75	EA.	\$1,905.49	\$142,911.75	\$1,140.00	\$85,500.00
TOTAL (included for evaluative purposes only)					\$5,721,921.20		\$3,721,110.05
	r of Bids Received:			G	FF.	2	EE
LSBE Participation:			GFE			GFE	

_	ES - Justification:
Reco	mmend award to:

Delta Municipal Supply Company, 408 Jesse Cronic Road, Braselton, GA 30517

Witness Signature:	
Agent Signature:	Purchasing Manager Signature: